

Uniformly Stable Solution of a Non-autonomous Delayed System with Caputo Fractional Derivative

F. M. Gaafar

Faculty of Science, Damanhour University, Damanhour, Egypt
fatmagaafar2@yahoo.com

Abstract

In this work, we are concerned with a class of nonlocal non-autonomous linear fractional-order delay differential equations with different delays, we prove the existence and uniqueness of the solution. Also we study the uniformly stability of the solution.

Keywords: Caputo fractional derivative; non-autonomous time delay system; nonlocal condition; stability analysis

1 Introduction

Let $x(t) = (x_1(t), x_2(t), \dots, x_n(t))'$, where $'$ denoted the transpose of the matrix. Let $\alpha \in (0, 1]$ and $i = 1, 2, \dots, n$. Consider the nonlocal problem

$${}^c D^\alpha x_i(t) = \sum_{j=1}^n a_{ij}(t) x_j(t) + \sum_{j=1}^n b_{ij}(t) x_j(t - r_j) + h_i(t) \quad , \quad t \in (0, 1] \quad (1)$$

$$x_i(0) + \sum_{k=1}^m c_k x_k(t_k) = x_{i0} \quad (2)$$

$$x(t) = \Phi(t) \quad \text{for } t < 0 \quad (3)$$

where ${}^c D^\alpha$ denoted the Caputo fractional-order derivative of order α , and $A(t) = (a_{ij}(t))_{n \times n}$, $B(t) = (b_{ij}(t))_{n \times n}$, $H(t) = (h_i(t))_{n \times 1}$ and $\Phi(t) = (\phi_i(t))_{n \times 1}$ are given matrices and $r_j \geq 0$ are constants.

Also $x_{i0} \in \mathfrak{R}$ and $0 < t_1 < t_2 < \dots < t_m < 1$, and $c_k \neq 0$ for all $k = 1, 2, \dots, m$.

The stability theory of fractional differential equations is of main interest in physical systems. Recently, considerable attention has given to the stability of fractional differential equations by many researchers (see [1]-[2], [4]-[15], and the references therein).

In this work, we discuss the existence, uniqueness and uniform stability of solution of the Caputo fractional non-autonomous time-varying delays system (1) with the m-point initial condition (2) and the initial condition (3).

2 Preliminaries

Let $L_1[a, b]$ be the space of Lebesgue integrable functions on the interval $[a, b]$

, $0 \leq a < b < \infty$ with the norm $\|x\|_{L_1} = \int_a^b |x(t)| dt$

Definition 2.1 The fractional (arbitrary) order integral of the function $f(t) \in L_1[a, b]$ of order $\alpha \in R^+$ is defined by (see [14], [16]-[18])

$$I_a^\alpha f(t) = \int_a^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} f(s) ds.$$

where $\Gamma(\cdot)$ is the gamma function.

Definition 2.2 The Caputo fractional (arbitrary) order derivative of order α , $n < \alpha < n + 1$ of the function $f(t)$ is defined by (see [16]-[18]),

$${}^c D_a^\alpha f(t) = I_a^{n-\alpha} D^n f(t) = \frac{1}{\Gamma(n-\alpha)} \int_a^t (t-s)^{n-\alpha-1} f^{(n)}(s) ds, \quad t \in [a, b]$$

Definition 2.3 The Riemann-liouville fractional (arbitrary) order derivatives of order α , $n < \alpha < n + 1$ of the function $f(t)$ is defined by (see [14], [16]-[18])

$$D_a^\alpha f(t) = \frac{d^n}{dt^n} I_a^{n-\alpha} f(t) = \frac{1}{\Gamma(n-\alpha)} \frac{d^n}{dt^n} \int_a^t (t-s)^{n-\alpha-1} f(s) ds, \quad t \in [a, b]$$

The following theorem on the properties of fractional order integration can be easily proved

Theorem 2.1 Let $\alpha, \beta \in R^+$, then we have

$$(i) \quad I_a^\alpha : L_1 \longrightarrow L_1, \quad \text{and if } f(t) \in L_1, \quad \text{then} \quad I_a^\alpha I_a^\beta f(t) = I_a^{\alpha+\beta} f(t)$$

$$(ii) \quad \lim_{\alpha \rightarrow n} I_a^\alpha = I_a^n, \quad n = 1, 2, 3, \dots \quad \text{uniformly}$$

(iii) If $f(t)$ is absolutely continuous on $[a, b]$, then

$$\frac{d}{dt} I_a^\alpha f(t) = \frac{(t-a)^{\alpha-1}}{\Gamma(\alpha)} f(t)|_{t=a} + I_a^\alpha \frac{d}{dt} f(t)$$

The concept of stability can be related to that of continuous dependence of solution on their initial value.

Consider the non-autonomous linear system

$$x'(t) = A(t) x(t) \tag{4}$$

with the initial condition

$$x(t_0) = x^0$$

Definition 2.5 (see [3]) The solution $x = 0$ of (4) will be called stable if for any $\epsilon > 0$, $t_0 \geq 0$, there exist $\delta(\epsilon, t_0) > 0$ such that $\|x(t, t_0, x^0)\| < \epsilon$ for $t \geq t_0$ as soon as $\|x^0\| < \delta$. And the solution $x = 0$ of (4) will be called uniformly stable if $\delta(\epsilon, t_0)$ can be chosen independent of t_0 : $\delta(\epsilon, t_0) \equiv \delta(\epsilon)$

3 Existence and Uniqueness

let $X = (C_n(I), \|\cdot\|)$ where $C_n(I)$ be the class of all continuous column n-vectors function and for $x \in C_n[0,1]$ the norm is defined by $\|x\| = \sum_{i=1}^n \sup_{t \in [0,1]} |x_i(t)|$. and define the norm of A by $\|A\| = \sum_{i=1}^n |a_i| = \sum_{i=1}^n \sup_{t, \forall j} |a_{ij}|$, the norm of B by $\|B\| = \sum_{i=1}^n |b_i| = \sum_{i=1}^n \sup_{t, \forall j} |b_{ij}|$.

Theorem 3.1: Let $a_{ij}(t), b_{ij}(t), h_i(t)$ and $\phi_i(t)$ are absolutely continuous functions and

$$1 + \sum_{k=1}^m c_k \neq 0 \quad \text{where} \quad (1 + \sum_{k=1}^m c_k)^{-1} = c$$

If
$$C = \frac{\|A\| + \|B\|}{\Gamma(\alpha + 1)} (1 + |c| \sum_{k=1}^m |c_k|) < 1$$

Then there exist a unique solution $x(t) \in X$ of (1)-(3) with $x'(t) \in L_1[0, T]$.

Proof: For simplicity let

$$g(t, x_j(t), x_j(t - r_j)) = \sum_{j=1}^n a_{ij}(t) x_j(t) + \sum_{j=1}^n b_{ij}(t) x_j(t - r_j) + h_i(t).$$

For $t > 0, 0 < \alpha \leq 1$ and from the properties of fractional of the fractional derivative, equation (1) can be written as

$$I^{1-\alpha} \frac{d}{dt} x_i(t) = g(t, x_j(t), x_j(t - r_j))$$

operating by I^α on both sides, we get

$$I^\alpha I^{1-\alpha} \frac{d}{dt} x_i(t) = I^\alpha g(t, x_j(t), x_j(t - r_j))$$

then

$$x_i(t) - x_i(0) = I^\alpha g(t, x_j(t), x_j(t - r_j))$$

by substituting for the value of $x_i(0)$ from (2), we get

$$x_i(t) = x_{i0} - \sum_{k=1}^m c_k x_i(t_k) + I^\alpha g(t, x_j(t), x_j(t - r_j)) \tag{5}$$

putting $t = t_k$ in (5), we obtain

$$x_i(t_k) = x_{i0} - \sum_{k=1}^m c_k x_i(t_k) + I^\alpha g(t, x_j(t), x_j(t - r_j))|_{t=t_k} \tag{6}$$

then subtract (5) from (6), we get

$$x_i(t_k) = x_i(t) + I^\alpha g(t, x_j(t), x_j(t - r_j))|_{t=t_k} - I^\alpha g(t, x_j(t), x_j(t - r_j)) \tag{7}$$

substitute from (7) in (5), we get

$$\begin{aligned} x_i(t) &= x_{i0} + I^\alpha g(t, x_j(t), x_j(t - r_j)) \\ &\quad - \sum_{k=1}^m c_k \{x_i(t) + I^\alpha g(t, x_j(t), x_j(t - r_j))|_{t=t_k} - I^\alpha g(t, x_j(t), x_j(t - r_j))\} \end{aligned}$$

$$(1 + \sum_{k=1}^m c_k) x_i(t) = x_{i0} + (1 + \sum_{k=1}^m c_k) I^\alpha g(t, x_j(t), x_j(t - r_j)) - \sum_{k=1}^m c_k I^\alpha g(t, x_j(t), x_j(t - r_j))|_{t=t_k}$$

$$x_i(t) = c x_{i0} + I^\alpha g(t, x_j(t), x_j(t - r_j)) - c \sum_{k=1}^m c_k I^\alpha g(t, x_j(t), x_j(t - r_j))|_{t=t_k} \quad (8)$$

New, Let $F: X \rightarrow X$, defined by

$$F x_i(t) = c x_{i0} + I^\alpha \left\{ \sum_{j=1}^n a_{ij}(t) x_j(t) + \sum_{j=1}^n b_{ij}(t) x_j(t - r_j) + h_i(t) \right\} - c \sum_{k=1}^m c_k \int_0^{t_k} \frac{(t_k - s)^{\alpha-1}}{\Gamma(\alpha)} \left\{ \sum_{j=1}^n a_{ij}(s) x_j(s) ds + \sum_{j=1}^n b_{ij}(s) x_j(s - r_j) + h_i(s) \right\} ds$$

Let $x_i(t), y_i(t) \in X$, then

$$\begin{aligned} |F x_i(t) - F y_i(t)| &\leq \int_0^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |a_{ij}(s)| |x_j(s) - y_j(s)| ds \\ &\quad + \int_0^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |b_{ij}(s)| |x_j(s - r_j) - y_j(s - r_j)| ds \\ &\quad + |c| \sum_{k=1}^m |c_k| \int_0^{t_k} \frac{(t_k - s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |a_{ij}(s)| |x_j(s) - y_j(s)| ds \\ &\quad + |c| \sum_{k=1}^m |c_k| \int_0^{t_k} \frac{(t_k - s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |b_{ij}(s)| |x_j(s - r_j) - y_j(s - r_j)| ds \\ &\leq \sup_{t, \forall j} |a_{ij}(t)| \int_0^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |x_j(s) - y_j(s)| ds \\ &\quad + \sup_{t, \forall j} |b_{ij}(t)| \int_0^{r_j} \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |x_j(s - r_j) - y_j(s - r_j)| ds \\ &\quad + \sup_{t, \forall j} |b_{ij}(t)| \int_{r_j}^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |x_j(s - r_j) - y_j(s - r_j)| ds \\ &\quad + |c| \sum_{k=1}^m |c_k| \sup_{t, \forall j} |a_{ij}(t)| \int_0^{t_k} \frac{(t_k - s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |x_j(s) - y_j(s)| ds \\ &\quad + |c| \sum_{k=1}^m |c_k| \sup_{t, \forall j} |b_{ij}(t)| \sum_{j=1}^n \int_0^{r_j} \frac{(t_k - s)^{\alpha-1}}{\Gamma(\alpha)} |x_j(s - r_j) - y_j(s - r_j)| ds \\ &\quad + |c| \sum_{k=1}^m |c_k| \sup_{t, \forall j} |b_{ij}(t)| \sum_{j=1}^n \int_{r_j}^{t_k} \frac{(t_k - s)^{\alpha-1}}{\Gamma(\alpha)} |x_j(s - r_j) - y_j(s - r_j)| ds \\ &\leq |a_i| \sum_{j=1}^n \sup_t |x_j(t) - y_j(t)| \int_0^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} ds \end{aligned}$$

$$\begin{aligned}
 & + |b_i| \sum_{j=1}^n \sup_t |x_j(t) - y_j(t)| \int_{r_j}^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} ds \\
 & + |a_i| |c| \sum_{k=1}^m |c_k| \sum_{j=1}^n \sup_t |x_j(t) - y_j(t)| \int_0^{t_k} \frac{(t_k-s)^{\alpha-1}}{\Gamma(\alpha)} ds \\
 & + |b_i| |c| \sum_{k=1}^m |c_k| \sum_{j=1}^n \sup_t \{ |x_j(t) - y_j(t)| \} \int_{r_j}^{t_k} \frac{(t_k-s)^{\alpha-1}}{\Gamma(\alpha)} ds \\
 \leq & \frac{|a_i| t^\alpha}{\Gamma(\alpha+1)} \|x - y\| + |b_i| \sum_{j=1}^n \frac{(t-r_j)^\alpha}{\Gamma(\alpha+1)} \sup_t |x_j(t) - y_j(t)| \\
 & + |a_i| |c| \sum_{k=1}^m |c_k| \frac{t_k^\alpha}{\Gamma(\alpha+1)} \|x - y\| \\
 & + |b_i| |c| \sum_{k=1}^m |c_k| \sum_{j=1}^n \frac{(t_k-r_j)^\alpha}{\Gamma(\alpha+1)} \sup_t |x_j(t) - y_j(t)| \\
 \leq & \frac{|a_i| + |b_i|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|x - y\|
 \end{aligned}$$

and

$$\begin{aligned}
 \|Fx - Fy\| & = \sum_{i=1}^n \sup_t |Fx_i - Fy_i| \leq \sum_{i=1}^n \frac{|a_i| + |b_i|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|x - y\| \\
 & \leq \frac{\|A\| + \|B\|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|x - y\| = C \|x - y\|.
 \end{aligned}$$

Then map $F : X \rightarrow X$ is a contraction and it has a fixed point $x = F x$ and hence, there exist a unique column vector $x(t) \in X$ which is the solution of the integral equation (8).

Now, differentiate (8) and using Theorem 2.1, we obtain

$$\begin{aligned}
 x'_i(t) & = \frac{d}{dt} I^\alpha \left\{ \sum_{j=1}^n a_{ij}(t) x_j(t) + \sum_{j=1}^n b_{ij}(t) x_j(t-r_j) + h_i(t) \right\} \\
 & = \left[\sum_{j=1}^n a_{ij}(t) x_j(t) + \sum_{j=1}^n b_{ij}(t) x_j(t-r_j) + h_i(t) \right]_{t=0} \frac{t^{\alpha-1}}{\Gamma(\alpha)} \\
 & \quad + I^\alpha \frac{d}{dt} \left\{ \sum_{j=1}^n a_{ij}(t) x_j(t) + \sum_{j=1}^n b_{ij}(t) x_j(t-r_j) + h_i(t) \right\} \\
 & = \frac{K t^{\alpha-1}}{\Gamma(\alpha)} + I^\alpha \left\{ \sum_{j=1}^n a'_{ij}(t) x_j(t) + \sum_{j=1}^n a_{ij}(t) x'_j(t) \right. \\
 & \quad \left. + \sum_{j=1}^n b'_{ij}(t) x_j(t-r_j) + \sum_{j=1}^n b_{ij}(t) x'_j(t-r_j) + h'_i(t) \right\},
 \end{aligned}$$

$$\begin{aligned}
\int_0^1 |x'_i(t)| dt &\leq \frac{K t^\alpha}{\Gamma(\alpha+1)} \Big|_0^1 + \int_0^1 \int_0^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} \left\{ \sum_{j=1}^n |a'_{ij}(s)| |x_j(s)| + \sum_{j=1}^n |a_{ij}(s)| |x'_j(s)| \right. \\
&\quad \left. + \sum_{j=1}^n |b'_{ij}(s)| |x_j(s-r_j)| + \sum_{j=1}^n |b_{ij}(s)| |x'_j(s-r_j)| + |h'_i(s)| \right\} ds dt \\
&\leq \frac{K}{\Gamma(\alpha+1)} + \int_0^1 \left\{ \sum_{j=1}^n |a'_{ij}(s)| |x_j(s)| + \sum_{j=1}^n |a_{ij}(s)| |x'_j(s)| \right. \\
&\quad \left. + \sum_{j=1}^n |b'_{ij}(s)| |x_j(s-r_j)| + \sum_{j=1}^n |b_{ij}(s)| |x'_j(s-r_j)| + |h'_i(s)| \right\} \int_s^1 \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} dt ds \\
&\leq \frac{K}{\Gamma(\alpha+1)} + \int_0^1 \frac{(1-s)^\alpha}{\Gamma(\alpha+1)} \left\{ \sum_{j=1}^n |a'_{ij}(s)| |x_j(s)| + \sum_{j=1}^n |a_{ij}(s)| |x'_j(s)| \right. \\
&\quad \left. + \sum_{j=1}^n |b'_{ij}(s)| |x_j(s-r_j)| + \sum_{j=1}^n |b_{ij}(s)| |x'_j(s-r_j)| + |h'_i(s)| \right\} ds \\
&\leq \frac{K}{\Gamma(\alpha+1)} + \frac{1}{\Gamma(\alpha+1)} \left\{ \sum_{j=1}^n \sup_t |x(t)| \int_0^1 |a'_{ij}(s)| ds \right. \\
&\quad \left. + \sup_{t, \forall j} |a_{ij}(t)| \int_0^1 \sum_{j=1}^n |x'_j(s)| ds + \sum_{j=1}^n \int_0^{r_j} |b'_{ij}(s)| |x_j(s-r_j)| ds \right. \\
&\quad \left. + \sum_{j=1}^n \int_{r_j}^1 |b'_{ij}(s)| |x_j(s-r_j)| ds + \sum_{j=1}^n \sup_{t, \forall j} |b_{ij}(t)| \int_0^{r_j} |x'_j(s-r_j)| ds \right. \\
&\quad \left. + \sum_{j=1}^n \sup_{t, \forall j} |b_{ij}(t)| \int_{r_j}^1 |x'_j(s-r_j)| ds + \int_0^1 |h'_i(s)| ds \right\} \\
&\leq \frac{K}{\Gamma(\alpha+1)} + \frac{1}{\Gamma(\alpha+1)} \{ a^* \|x\| + |a_i| \|x'\|_{L_1} \\
&\quad + \sum_{j=1}^n \sup_t |\phi_j(t)| \int_0^{r_j} |b'_{ij}(s)| ds + \sum_{j=1}^n \sup_t |x_j(t)| \int_{r_j}^1 |b'_{ij}(s)| ds \\
&\quad + |b_i| \sum_{j=1}^n \int_0^{r_j} |x'_j(s-r_j)| ds + |b_i| \sum_{j=1}^n \int_{r_j}^1 |x'_j(s-r_j)| ds + \int_0^1 |h'_i(s)| ds \} \\
&\leq \frac{K}{\Gamma(\alpha+1)} + \frac{1}{\Gamma(\alpha+1)} \{ a^* \|x\| + |a_i| \|x'\|_{L_1} + b^* \|\Phi\| \\
&\quad + |b_i| \|\Phi'\|_{L_1} + |b_i| \|x'\|_{L_1} + \int_0^1 |h'_i(s)| ds \}
\end{aligned}$$

$$\begin{aligned}
\sum_{i=1}^n \int_0^1 |x'_i(t)| dt = \|x'\|_{L_1} &\leq \frac{1}{\Gamma(\alpha+1)} \{ nK + n a^* \|x\| + \|A\| \|x'\|_{L_1} \\
&\quad + n b^* \|\Phi\| + \|B\| \|\Phi'\|_{L_1} + \|B\| \|x'\|_{L_1} + \|H'\|_{L_1} \} \\
(1 - \frac{\|A\| + \|B\|}{\Gamma(\alpha+1)}) \|x'\|_{L_1} &\leq \frac{1}{\Gamma(\alpha+1)} \{ nK + n a^* \|x\| + n b^* \|\Phi\| + \|B\| \|\Phi'\|_{L_1} + \|H'\|_{L_1} \}
\end{aligned}$$

$$\|x'\|_{L_1} \leq \left(1 - \frac{(\|A\| + \|B\|)}{\Gamma(\alpha + 1)}\right)^{-1} \left(\frac{1}{\Gamma(\alpha + 1)}\{nK + n a^* \|x\| + n b^* \|\Phi\| + \|B\| \|\Phi'\|_{L_1} + \|H'\|_{L_1}\}\right).$$

Therefore we obtain $x' \in L_1[0, 1]$

We now prove the equivalence between the integral equation (8) and the nonlocal problem (1)- (3), differentiate both sides of (8), we get

$$\begin{aligned} x'_i(t) &= \frac{d}{dt} I^\alpha g(t, x_j(t), x_j(t - r_j)) \\ &= I^\alpha \frac{d}{dt} g(t, x_j(t), x_j(t - r_j)) + g(t, x_j(t), x_j(t - r_j))|_{t=0} \frac{t^{\alpha-1}}{\Gamma(\alpha)} \end{aligned}$$

Operating by $I^{1-\alpha}$ on both sides, we obtain

$$\begin{aligned} I^{1-\alpha} D x_i(t) &= I^\alpha I^{1-\alpha} \frac{d}{dt} g(t, x_j(t), x_j(t - r_j)) + g(t, x_j(t), x_j(t - r_j))|_{t=0} \\ {}^c D^\alpha x_i(t) &= I \frac{d}{dt} g(t, x_j(t), x_j(t - r_j)) + g(t, x_j(t), x_j(t - r_j))|_{t=0} \end{aligned}$$

and we have

$${}^c D^\alpha x_i(t) = g(t, x_j(t), x_j(t - r_j))$$

which prove the equivalence of (8) and (1).

We want to prove that $\lim_{t \rightarrow 0^+} x_i(t) = x_{i0} - \sum_{k=1}^m c_k x_i(t_k)$.

Let $t \rightarrow 0$ in (8) we find the nonlocal condition (2) is satisfied, which prove the equivalence.

4 Stability

In this section we study the stability of the solution of the nonlocal problem (1)-(3)

Definition 4.1 The solution of the non-autonomous linear system (1) is stable if for any $\epsilon > 0$, there exist $\delta_1, \delta_2 > 0$ such that for any two solutions $x(t) = (x_1(t), x_2(t), \dots, x_n(t))'$ and $\tilde{x}(t) = (\tilde{x}_1(t), \tilde{x}_2(t), \dots, \tilde{x}_n(t))'$ with the initial conditions (2)-(3) and

$\tilde{x}_i(0) + \sum_{k=1}^m c_k \tilde{x}_i(t_k) = \tilde{x}_{i0}$, $\tilde{x}(t) = \tilde{\Phi}(t)$ for $t < 0$ respectively, one has $\|x_0 - \tilde{x}_0(t)\| \leq \delta_1$ and $\|\Phi(t) - \tilde{\Phi}(t)\| \leq \delta_2$, then $\|x(t) - \tilde{x}(t)\| < \epsilon$ for all $t \geq 0$.

Theorem 4.2: The solution of the nonlocal delay system (1)-(3) is uniformly stable.

Proof: Let $x(t)$ and $\tilde{x}(t)$ be two solutions of the system (1) under the conditions (2) - (3) and $\tilde{x}_i(0) + \sum_{k=1}^m c_k \tilde{x}_i(t_k) = \tilde{x}_{i0}$, $\tilde{x}(t) = \tilde{\Phi}(t)$ for $t < 0$ respectively, then from (8), for $t > 0$,

$$\begin{aligned} x_i(t) &= c x_{i0} + I^\alpha \left\{ \sum_{j=1}^n a_{ij}(t) x_j(t) + \sum_{j=1}^n b_{ij}(t) x_j(t - r_j) + h_i(t) \right\} \\ &\quad - c \sum_{k=1}^m c_k \int_0^{t_k} \frac{(t_k - s)^{\alpha-1}}{\Gamma(\alpha)} \left\{ \sum_{j=1}^n a_{ij}(s) x_j(s) ds + \sum_{j=1}^n b_{ij}(s) x_j(s - r_j) + h_i(s) \right\} ds, \end{aligned}$$

$$\begin{aligned}
|x_i(t) - \tilde{x}_i(t)| &\leq |c| |x_{i0} - \tilde{x}_{i0}| + \int_0^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |a_{ij}(s)| |x_j(s) - \tilde{x}_j(s)| ds \\
&+ \int_0^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |b_{ij}(s)| |x_j(s-r_j) - \tilde{x}_j(s-r_j)| ds \\
&+ |c| \sum_{k=1}^m |c_k| \int_0^{t_k} \frac{(t_k-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |a_{ij}(s)| |x_j(s) - \tilde{x}_j(s)| ds \\
&+ |c| \sum_{k=1}^m |c_k| \int_0^{t_k} \frac{(t_k-s)^{\alpha-1}}{\Gamma(\alpha)} \sum_{j=1}^n |b_{ij}(s)| |x_j(s-r_j) - \tilde{x}_j(s-r_j)| ds \\
&\leq |c| |x_{i0} - \tilde{x}_{i0}| + \frac{|a_i| t^\alpha}{\Gamma(\alpha+1)} \|x - \tilde{x}\| \\
&+ |b_i| \sum_{j=1}^n \sup_t \{|\phi_j(t) - \tilde{\phi}_j(t)|\} \int_0^{r_j} \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} ds \\
&+ |b_i| \sum_{j=1}^n \sup_t \{|x_j(t) - \tilde{x}_j(t)|\} \int_{r_j}^t \frac{(t-s)^{\alpha-1}}{\Gamma(\alpha)} ds \\
&+ |a_i| |c| \sum_{k=1}^m |c_k| \frac{t_k^\alpha}{\Gamma(\alpha+1)} \|x - \tilde{x}\| \\
&+ |b_i| |c| \sum_{k=1}^m |c_k| \sum_{j=1}^n \sup_t \{|\phi_j(t) - \tilde{\phi}_j(t)|\} \int_0^{r_j} \frac{(t_k-s)^{\alpha-1}}{\Gamma(\alpha)} ds \\
&+ |b_i| |c| \sum_{k=1}^m |c_k| \sum_{j=1}^n \sup_t \{|x_j(t) - \tilde{x}_j(t)|\} \int_{r_j}^{t_k} \frac{(t_k-s)^{\alpha-1}}{\Gamma(\alpha+1)} ds \\
&\leq |c| |x_{i0} - \tilde{x}_{i0}| + \frac{|a_i| + |b_i|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|x - \tilde{x}\| \\
&+ \frac{|b_i|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|\Phi - \tilde{\Phi}\|
\end{aligned}$$

$$\begin{aligned}
\|x - \tilde{x}\| &= \sum_{i=1}^n \sup_t |x_i - \tilde{x}_i| \leq |c| \sum_{i=1}^n |x_{i0} - \tilde{x}_{i0}| \\
&+ \sum_{i=1}^n \frac{|a_i| + |b_i|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|x - \tilde{x}\| \\
&+ \sum_{i=1}^n \frac{|b_i|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|\Phi - \tilde{\Phi}\| \\
&\leq |c| \|x_0 - \tilde{x}_0\|_{R^n} + \frac{\|A\| + \|B\|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|x - \tilde{x}\| \\
&+ \frac{\|B\|}{\Gamma(\alpha+1)} (1 + |c| \sum_{k=1}^m |c_k|) \|\Phi - \tilde{\Phi}\|
\end{aligned}$$

and we have

$$(1 - C) \|x(t) - \tilde{x}(t)\| \leq |c| \|x_0 - \tilde{x}_0\|_{R^n} + \frac{\|B\|}{\Gamma(\alpha + 1)} \left(1 + |c| \sum_{k=1}^m |c_k|\right) \|\Phi - \tilde{\Phi}\|.$$

Therefore for $\delta_1, \delta_2 > 0$ such that $\|x_0 - \tilde{x}_0\| < \delta_1$ and $\|\Phi - \tilde{\Phi}\| < \delta_2$ we can find

$$\|x(t) - \tilde{x}(t)\| < \epsilon = (1 - C)^{-1} \left(|c| \delta_1 + \frac{\|B\| (1 + |c| \sum_{k=1}^m |c_k|)}{\Gamma(\alpha + 1)} \delta_2 \right),$$

where $\|x_0 - \tilde{x}_0\|_{R^n} = \sum_{i=1}^n |x_{i0} - \tilde{x}_{i0}|$

References

- [1] Y. Chen, K. I. Moore, *Analytical stability bound for a class of delayed fractional-order dynamic systems*, *Nonlinear Dynamics*, 29(2002), 191-200.
- [2] Y. Chen, K. I. Moore, *Analytical stability bound for delayed second-order systems with repeating poles using Lambert function ω* , *Automatica*, 39(2002), 891-895.
- [3] C. Corduneanu, *Principle of differential and integral equations*, Allyn and Bacon, Inc., Boston, Massachusetts, (1971).
- [4] W. Deng, C. Li, and J. Lu, *Stability analysis of linear fractional differential system with multiple time delays*, *Nonlinear Dynamics*, vol. 48, no. 4(2007) 409-416.
- [5] A.M.A. El-Sayed, F.M. Gaafar, E.M.A. Hamadalla, *Stability for a non-local non-autonomous system of fractional order differential equations with delays*, *E. J. of Diff. Equ.* 31,(2010)1-10.
- [6] A.M.A. El-Sayed, F.M.Gaafar, *Stability of a nonlinear non-autonomous fractional order systems with different delays and non-local conditions*, *Advances in Difference Equations* 2011, 2011:47 doi:10.1186/1687-1847-2011-47
- [7] A.M.A. El-Sayed, S.A. Abd-Salam, *On the stability of a fractional-order differential equation with nonlocal initial condition*, *E. J. Qualitative Theory of Diff. Equ.*, 29(2008), 1-8.
- [8] Y. He, M. Wu, J. H. She and G.-P. Liu, *Delay-dependent robust stability criteria for uncertain neutral systems with mixed delays*, *Systems and Control Letters*, 51(2004), 57-65.
- [9] C. P. Li and F. R. Zhang, *A survey on the stability of fractional differential equations*, *The European Physical Journal Special Topics*, 193(2011), 27-47.
- [10] X. G. Liu, M. Wu, Ralph Martin and M. L. Tang, *Stability analysis for neutral systems with mixed delays* *Original Research Article Journal of Computational and Applied Mathematics*, 202(2007), 478-497.
- [11] C. H. Lien, K. W. Yu, Y. J. Chung, Y. F. Lin, L. Y. Chung and J. D. Chen, *Exponential stability analysis for uncertain switched neutral systems with interval-time-varying state delay*, *Nonlinear Analysis: Hybrid Systems*, 3(2009), 334-342.

- [12] R. Malti, O. Cois, M. Aoun, F. Levron, and A. Oustaloup, *Computing impulse response energy of fractional transfer function*, in Proceedings of the 15th IFAC World Congress, Barcelona, Spain, 2002.
- [13] D. Matignon, *Stability results for fractional differential equations with applications to control processing*, in Proceedings of the IMACS-SMC, 2(1996), 963-968.
- [14] K.S. Miller, B. Ross, *An introduction to the fractional calculus and fractional differential equations*, John Wiley, New York, (1993).
- [15] M. Moze, J. Sabatier, and A. Oustaloup, *LMI characterization of fractional systems stability*, in Advances in Fractional Calculus, Springer, Dordrecht, The Netherlands, (2007), 419-434.
- [16] I. Podlubny, A.M.A. El-Sayed, *On two definitions of fractional calculus*, preprint UEF (ISBN 80-7099-252-2), Slovak Academy of Science-Institute of Experimental phys, (1996)03-06.
- [17] I. Podlubny, *Fractional differential equations*, Acad. press, San Diego-New York-London, (1999).
- [18] S. Samko, O.L. Marichev, *Fractional integral and derivatives*, Gordon and Breach science Publisher, (1993).

Received: March, 2012